

# A New Subclass of Meromorphic Starlike Functions Associated with Q-Hypergeometric Functions

Dinesh Mittal  
 Dept. of Mathematics  
 B.S.K. College for Women Abohar,  
 INDIA  
*mittal.dinesh2010@gmail.com*

A.K.Arora, S.K.Bissu  
 Dept. of Mathematics  
 Govt. College Ajmer  
 Ajmer, INDIA  
*arunaroramath@gmail.com*  
*susilkbissu@gmail.com*

Pawan Chanchal  
 Dept. of Mathematics  
 Govt. College Kekri  
 Ajmer, INDIA  
*pawanchanchal0@gmail.com*

**Abstract**— The fractional calculus operator has used in various field of sciences, GFT and in the engineering, if we extend the ordinary fractional calculus in the q-theory we get fractional q-calculus operator. In this paper by making use of fractional q-calculus operator we have introduced a new subclass of Meromorphic starlike functions  $\mathcal{N}_q(\lambda, \alpha, \beta)$  defined in the open disk and determined coefficient estimate, neighbourhood result, subordination results, extreme points and partial sums for the functions belonging to this class

**Keywords**- fractional q-calculus operator, Meromorphic starlike functions.

\*\*\*\*\*

## I. INTRODUCTION

Let  $\mathcal{B}$  be the class of analytic and univalent functions defined in the punched open unit disk  $U = \{z: |z| < 1\}$  is of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \tag{1}$$

normalized by  $f(0) = 0 = f'(0) - 1$ . The subclass  $\mathcal{S}$  of  $\mathcal{B}$  consisting of univalent functions in disk  $U$  of the form

$$g(z) = z - \sum_{n=2}^{\infty} b_n z^n, \quad b_n \geq 0 \tag{2}$$

We denote subclass of  $\mathcal{B}$  by  $S(\gamma)$  and  $K(\gamma)$  consisting of all functions, which are starlike and convex of order  $\gamma$  introduced by Goodman [1], Ronning ([4]) and Silverman [3].

$$S(\gamma) = \left\{ f \in \mathcal{B}; \operatorname{Re} \left( \frac{zf'(z)}{f(z)} \right) > \gamma \right\} \quad \text{and} \quad K(\gamma) = \left\{ f \in \mathcal{B}; \operatorname{Re} \left( 1 + \frac{zf''(z)}{f'(z)} \right) > \gamma \right\}$$

We also denote the functions  $f(z)$  belongs  $\mathcal{B}$  that are convex in  $U$  as  $\mathcal{K}$ .

Define new class of analytic functions in the punched open unit disk various authors used fractional q- calculus. Recall some definitions of q- calculus operators of function  $f(z)$ .

The q-shifted, fractional is defined for a  $q \in \mathbb{C}$  as a product of n factors by

$$(a; q)_n = \begin{cases} 1 & , n = 0 \\ (1-a)(1-aq) \dots \dots \dots (1-aq^{n-1}) & , n \in \mathbb{N} \end{cases} \tag{3}$$

and in terms of basic analogue of gamma function.

$$(q^a; q)_n = \frac{\Gamma_q(a+n)(1-q)^n}{\Gamma_q(a)}, \quad n > 0 \tag{4}$$

The recurrence relation for q- gamma function is defined by Gasper and Rahman [2]

$$\Gamma_q(1+a) = \frac{(1-q^a)\Gamma_q(a)}{1-q} \tag{5}$$

and the q-binomial expansion is given by

$$(x-y)_v = x^v \left( \frac{-y}{x}; q \right) = x^v \prod_{n=0}^{\infty} \frac{1 - \left(\frac{y}{x}\right)q^n}{1 - \left(\frac{y}{x}\right)q^{v+n}} = x^v \phi_0 [q^{-v}; -; q; \frac{yq^v}{x}] \tag{6}$$

The q-derivative and q-integral of function f defined by (1) is given by

$$D_{q,z} f(z) = \frac{f(z) - f(zq)}{z(1-q)}, \quad (z \neq 0, q \neq 0) \tag{7}$$

$$\int_0^z f(t) d(t; q) = z(1-q) \sum_{k=0}^{\infty} q^k f(zq^k) \tag{8}$$

It is of interest to note that  $\lim_{q \rightarrow 1^-} \frac{(q^a; q)_n}{(1-q)^n} = a_n = a(a+1)(a+2) \dots \dots \dots (a+n-1)$  is the familiar pochhammer symbol. Recall the definitions of fractional q-derivative and fractional q-integral operators given by Kim and Srivastava [6].

**Definition 1.** Let the function  $f(z)$  be the analytic in a simply connected region of the z-plane containing the origin . The fractional q-integral of f of order  $\mu$  ( $\mu > 0$ ) is defined by

$$J_{q,z}^{\mu} f(z) = D_{q,s}^{-\mu} f(z) = \frac{1}{\Gamma_q(\mu)} \int_0^z (z-qt)_{\mu-1} f(t) d(t; q) \tag{9}$$

Where  $(z - tq)_{\mu-1}$  can be expressed as q- binomial given by (6) and the series  $\phi_0 [\mu; -; q; z]$  is a single valued when  $|\arg(z)| < \pi, |z| < 1$ , therefore the function  $(z - tq)_{\mu-1}$  in (9) is single valued when  $|\arg\left(\frac{-tq^\mu}{z}\right)| < \pi, |tq^\mu| < 1$  and  $|\arg(z)| < \pi$ .

**Definition 2 .** The fractional q- derivative operator of order  $\mu$  ( $0 \leq \mu < 1$ ) is defined by function f(z) by

$$D_{q,z}^\mu f(z) = D_{q,z} J_{q,z}^\mu f(z) = \frac{1}{\Gamma_q(1-\mu)} D_{q,z} \int_0^z (z - qt)_{-\mu} f(t) d(t; q) \tag{10}$$

Where the function f(z) is constrained, and the multiplicity of function  $(z - qt)_{-\mu}$  is removed as in Definition 1.

**Definition 3.** Under the hypothesis of Definition 2, the fractional derivative of order  $\mu$  is defined by

$$D_{q,z}^\mu f(z) = D_{q,z}^m J_{q,z}^{m-\mu} f(z), (m - 1 \leq \mu < m; m \in \mathbb{N}). \tag{11}$$

By using known extensions involving q-differ-integral operator, we define the Linear operator

$$H_{q,z}^\mu f(z) : I \rightarrow I$$

$$H_{q,z}^\mu f(z) = \frac{\Gamma_q(2-\mu)}{\Gamma_q(2)} z^{\mu-1} D_{q,z}^\mu f(z) = z - \sum_{n=2}^\infty T_q(n, \mu) a_n z^n \tag{12}$$

Where

$$T_q(n, \mu) = \frac{\Gamma_q(2-\mu)\Gamma_q(n+1)}{\Gamma_q(2)\Gamma_q(n+1-\mu)} \tag{13}$$

Where we can easily check that  $T_q(n, \mu)$  is a decreasing function of n for  $-\infty < \mu < 2, 0 < \mu < 1$ .

In this paper we define a following subclass of starlike functions of order  $\gamma$  based on q-fractional operator.

For  $\mu < 2, 0 \leq \alpha < 1, \beta \geq 0$  and  $0 \leq \lambda < 1$ , we let  $\mathcal{N}_q(\lambda, \alpha, \beta)$  be a subclass of  $\mathcal{B}$  consisting of functions of the form (2) and satisfying

$$Re \left\{ \frac{z \left( H_{q,z}^\mu f(z) \right)'' + (1-\lambda) \left( H_{q,z}^\mu f(z) \right)'}{(1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''} \right\} \geq \beta \left\{ \frac{z \left( H_{q,z}^\mu f(z) \right)'' + (1-\lambda) \left( H_{q,z}^\mu f(z) \right)'}{(1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''} - 1 \right\} + \alpha \tag{14}$$

Where  $H_{q,z}^\mu f(z)$  given by (12)

## II. COEFFICIENT ESTIMATE

To obtain main results we recall the following lemmas

**Lemma 1.** If  $\alpha$  is a real number and w is complex number, then

$$R(w) \geq \alpha \Leftrightarrow |w + (1 - \alpha)| - |w + (1 + \alpha)| \geq 0 \tag{15}$$

**Lemma 2.** If w is a complex number and  $\alpha, \beta$  are real numbers, then

$$R(w) \geq \beta |w - 1| + \alpha \Leftrightarrow R\{w(1 + \beta e^{i\theta}) - \beta e^{i\theta}\} \geq \alpha, -\pi \leq \theta \leq \pi \tag{16}$$

**Theorem 1.** The function f(z) defined by (2) is in the class  $\mathcal{N}_q(\lambda, \alpha, \beta)$  if and only if

$$\sum_{n=2}^\infty n[(1 - \lambda)(1 - \alpha) + (n - 1)(1 + \beta - \lambda\alpha - \lambda\beta)] T_q(n, \mu) a_n \leq (1 - \lambda)(1 - \alpha) \tag{17}$$

Where  $\mu < 2, 0 \leq \lambda < 1, \beta \geq 0$  and  $0 \leq \alpha < 1$ .

**Proof.** If  $f \in \mathcal{N}_q(\lambda, \alpha, \beta)$  then by (14), we have

$$Re \left\{ \frac{z \left( H_{q,z}^\mu f(z) \right)'' + (1-\lambda) \left( H_{q,z}^\mu f(z) \right)'}{(1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''} \right\} \geq \beta \left\{ \frac{z \left( H_{q,z}^\mu f(z) \right)'' + (1-\lambda) \left( H_{q,z}^\mu f(z) \right)'}{(1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''} - 1 \right\} + \alpha$$

Using Lemma (2), we have

$$Re \left\{ \frac{z \left( H_{q,z}^\mu f(z) \right)'' + (1-\lambda) \left( H_{q,z}^\mu f(z) \right)'}{(1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''} (1 + \beta e^{i\theta}) - \beta e^{i\theta} \right\} \geq \alpha, \quad -\pi \leq \theta \leq \pi \tag{18}$$

Or equivalently

$$Re \left\{ \frac{[z \left( H_{q,z}^\mu f(z) \right)'' + (1-\lambda) \left( H_{q,z}^\mu f(z) \right)'] (1 + \beta e^{i\theta}) - [(1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''] \beta e^{i\theta}}{(1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''} \right\} \geq \alpha$$

Let  $A(z) = [z \left( H_{q,z}^\mu f(z) \right)'' + (1-\lambda) \left( H_{q,z}^\mu f(z) \right)'] (1 + \beta e^{i\theta}) - [(1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''] \beta e^{i\theta}$

and  $B(z) = (1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''$

by Lemma (1), (18) is equivalent to

$$|A(z) + (1 - \alpha)B(z)| \geq |A(z) + (1 + \alpha)B(z)| \text{ for } 0 \leq \alpha < 1$$

By substituting the values of A(z) and B(z), we get

$$\sum_{n=2}^\infty n [(1 - \lambda)(1 - \alpha) + (n - 1)(1 + \beta - \alpha\lambda - \lambda\beta)] T_q(n, \mu) a_n \leq (1 - \lambda)(1 - \alpha)$$

**Conversely,** suppose that (17) holds. Then we must show

$$Re \left\{ \frac{[z \left( H_{q,z}^\mu f(z) \right)'' + (1-\lambda) \left( H_{q,z}^\mu f(z) \right)'] (1 + \beta e^{i\theta}) - [(1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''] \beta e^{i\theta}}{(1-\lambda) \left( H_{q,z}^\mu f(z) \right)' + \lambda z \left( H_{q,z}^\mu f(z) \right)''} \right\} \geq \alpha$$

Upon using the values of  $z$  on the positive real axis where  $0 \leq 2 = r < 1$ , the above inequality reduces to

$$\operatorname{Re} \left\{ \frac{[-\sum_{n=2}^{\infty} n(n-1)T_q(n, \mu) a_n r^{n-1} + (1-\lambda)(1-\sum_{n=2}^{\infty} nT_q(n, \mu) a_n r^{n-1})(1+\beta e^{i\theta})]}{(1-\lambda)(1-\sum_{n=2}^{\infty} nT_q(n, \mu) a_n r^{n-1}) - \lambda \sum_{n=2}^{\infty} n(n-1)T_q(n, \mu) a_n r^{n-1}} - \frac{[(1-\lambda)(1-\sum_{n=2}^{\infty} nT_q(n, \mu) a_n r^{n-1}) - \lambda \sum_{n=2}^{\infty} n(n-1)T_q(n, \mu) a_n r^{n-1}](\alpha + \beta e^{i\theta})}{[(1-\lambda)(1-\sum_{n=2}^{\infty} nT_q(n, \mu) a_n r^{n-1}) - \lambda \sum_{n=2}^{\infty} n(n-1)T_q(n, \mu) a_n r^{n-1}]} \right\} \geq 0$$

Since  $\operatorname{Re}(e^{i\theta}) \geq -|e^{i\theta}| = -1$ , the inequality is correct for all  $z \in U$ , lettering  $r \rightarrow 1$  yields

$$\operatorname{Re} \left\{ \frac{(1-\lambda)(1-\alpha) - \sum_{n=2}^{\infty} T_q(n, \mu) a_n [n(n-1) + (1-\lambda)n - \alpha(1-\lambda)n - \alpha\lambda n(n-1) + \beta n(n-1)(1-\lambda)]}{(1-\lambda) - \sum_{n=2}^{\infty} T_q(n, \mu) a_n [n - \lambda n + \lambda n(n-1)]} \right\} \geq 0$$

And so by the Mean value theorem, we have

$$\operatorname{Re} \left\{ (1-\lambda)(1-\alpha) - \sum_{n=2}^{\infty} T_q(n, \mu) a_n n[(n-1) + (1-\lambda) - \alpha(1-\lambda) - \alpha\lambda(n-1) + \beta n(n-1)(1-\lambda)] \right\} \geq 0$$

We get desired conclusion.

**Corollary1.** If  $f(z) \in \mathcal{N}_q(\lambda, \alpha, \beta)$ , then

$$a_n \leq \frac{(1-\lambda)(1-\alpha)}{n[(1-\lambda)(1-\alpha) + (n-1)(1+\beta-\alpha\lambda-\lambda\beta)]T_q(n, \mu)}, \quad (n \geq 2) \tag{19}$$

Where  $0 \leq \alpha < 1, 0 \leq \lambda < 1, \beta \geq 0$  and  $\mu < 2$ . The result is sharp for the function

$$f(z) = z - \frac{(1-\lambda)(1-\alpha)}{n[(1-\lambda)(1-\alpha) + (n-1)(1+\beta-\alpha\lambda-\lambda\beta)]T_q(n, \mu)} z^n, \quad (n \geq 2) \tag{20}$$

### III. RADII OF CLOSE-TO CONVEXITY AND CONVEXITY AND STARLIKENESS

**Theorem2.** Let the function  $f(z)$  defined by (2) be in the class  $\mathcal{N}_q(\lambda, \alpha, \beta)$  then  $f(z)$  is close-to-convex of order  $\varphi$  ( $0 \leq \varphi < 1$  in  $|z| < r_1$ , where

$$r_1 = \inf_{n \geq 2} \left\{ \frac{\{(1-\varphi)[(1-\lambda)(1-\alpha) + (n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n, \mu)\}^{\frac{1}{n-1}}}{(1-\lambda)(1-\alpha)} \right\} \tag{21}$$

The result is sharp, with the extremal function  $f(z)$  given by (20)

Proof.  $r_1$  is given by (21). Indeed we find from (2) that

$$|f'(z) - 1| \leq \sum_{n=2}^{\infty} n a_n |z|^{n-1}$$

Thus  $|f'(z) - 1| \leq 1 - \varphi$  if  $\sum_{n=2}^{\infty} \left(\frac{n}{1-\varphi}\right) a_n |z|^{n-1} \leq 1$

But by the theorem 1, we have

$$\sum_{n=2}^{\infty} \frac{n[(1-\lambda)(1-\alpha) + (n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n, \mu)}{(1-\lambda)(1-\alpha)} a_n \leq 1$$

Hence (22) will be true if

$$\frac{n|z|^{n-1}}{1-\varphi} \leq \frac{n[(1-\lambda)(1-\alpha) + (n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n, \mu)}{(1-\lambda)(1-\alpha)}$$

Equivalently if

$$|z| \leq \left\{ \frac{(1-\varphi)[(1-\lambda)(1-\alpha) + (n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n, \mu)}{(1-\lambda)(1-\alpha)} \right\}^{\frac{1}{n-1}}, \quad (n \geq 2) \tag{24}$$

The theorem follows from (24).

**Theorem3.** Let  $f(z)$  defined by (2) be in the class  $\mathcal{N}_q(\lambda, \alpha, \beta)$ . Then  $f(z)$  is convex of order  $\varphi$  ( $0 \leq \varphi < 1$  in  $|z| < r_2$ , where

$$r_2 = \inf_{n \geq 2} \left\{ \frac{\{(1-\varphi)[(1-\lambda)(1-\alpha) + (n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n, \mu)\}^{\frac{1}{n-1}}}{(n-\varphi)(1-\lambda)(1-\alpha)} \right\} \tag{25}$$

The result is sharp, with extremal function  $f(z)$  given by (20).

Proof. We must show that

$$\left| \frac{zf''(z)}{f'(z)} \right| < 1 - \varphi \quad \text{for } |z| < r_2 \tag{26}$$

Substituting the series expansions of  $f''(z)$  and  $f'(z)$  in the left hand of (25), we have

$$\left| \frac{-\sum_{n=2}^{\infty} n(n-1)a_n z^{n-1}}{1 - \sum_{n=2}^{\infty} n a_n z^{n-1}} \right| \leq \frac{\sum_{n=2}^{\infty} n(n-1)a_n |z|^{n-1}}{1 - \sum_{n=2}^{\infty} n a_n |z|^{n-1}}$$

The last expansion above is bounded by  $(1 - \varphi)$  if

$$\sum_{n=2}^{\infty} \frac{n(n-\varphi)}{(1-\varphi)} a_n |z|^{n-1} \leq 1 \tag{27}$$

In view of (26), it follows that (27) is true if

$$\frac{n(n-\varphi)}{(1-\varphi)} |z|^{n-1} < \frac{n[(1-\lambda)(1-\alpha) + (n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n, \mu)}{(1-\lambda)(1-\alpha)}$$

Or

$$|z| < \left\{ \frac{(1-\varphi)[(1-\lambda)(1-\alpha) + (n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n, \mu)}{(1-\varphi)(1-\lambda)(1-\alpha)} \right\}^{\frac{1}{n-1}}, \quad (n \geq 2) \tag{28}$$

Theorem (22) follows easily from (28).

**Theorem 4.** Let  $f(z)$  defined by (2) be in the class  $\mathcal{N}_q(\lambda, \alpha, \beta)$ . Then  $f(z)$  is starlike of order  $\varphi$  ( $0 \leq \varphi < 1$ ) in  $|z| < r_3$ , where

$$r_3 = \inf_{n \geq 2} \left\{ \frac{(1-\varphi)n[(1-\lambda)(1-\alpha)+(n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n,\mu)}{(n-\varphi)(1-\lambda)(1-\alpha)} \right\}^{\frac{1}{n-1}} \quad (29)$$

The result is sharp, with external function  $f(z)$  given by (20).

Proof. It is sufficient to show that

$$\left| \frac{zf'(z)}{f'(z)} - 1 \right| \leq 1 - \varphi \quad \text{for } |z| < r_3$$

We have

$$\left| \frac{zf'(z)}{f'(z)} - 1 \right| \leq \frac{\sum_{n=2}^{\infty} (n-1)a_n |z|^{n-1}}{1 - \sum_{n=2}^{\infty} a_n |z|^{n-1}}.$$

Thus

$$\left| \frac{zf'(z)}{f'(z)} - 1 \right| \leq 1 - \varphi$$

If

$$\sum_{n=2}^{\infty} \frac{n(n-\varphi)}{(1-\varphi)} a_n |z|^{n-1} \leq 1 \quad (30)$$

Hence (30) will be true if

$$\frac{(n-\varphi)}{(1-\varphi)} |z|^{n-1} \leq \frac{n[(1-\lambda)(1-\alpha)+(n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n,\mu)}{(1-\lambda)(1-\alpha)},$$

Or equivalently

$$|z| \leq \left\{ \frac{(1-\varphi)n[(1-\lambda)(1-\alpha)+(n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n,\mu)}{(n-\varphi)(1-\lambda)(1-\alpha)} \right\}^{\frac{1}{n-1}}, \quad (n \geq 2) \quad (31)$$

Theorem follows easily from (31).

#### IV. CLOSURE THEOREMS

**Theorem 5.** Let

$$f_i(z) = z - \sum_{n=2}^{\infty} a_{n,i} z^n \in \mathcal{N}_q(\lambda, \alpha, \beta) \quad \text{where } i \in \{1, 2, \dots, l\} \text{ and } 0 < C_i < 1$$

Such that

$$\sum_{i=1}^l C_i = 1$$

Then the function  $f(z)$  defined by

$$F(z) = \sum_{i=1}^l C_i f_i(z) = 1$$

Is also in the class  $\mathcal{N}_q(\lambda, \alpha, \beta)$ .

Proof. For every  $i \in \{1, 2, \dots, l\}$ , we obtain

$$\sum_{n=2}^{\infty} \frac{n[(1-\lambda)(1-\alpha)+(n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n,\mu)}{(1-\lambda)(1-\alpha)} a_{n,i} \leq 1$$

Since

$$F(z) = \sum_{i=1}^l C_i f_i(z) = \sum_{i=1}^l C_i [z - \sum_{n=2}^{\infty} a_{n,i} z^n] = z - \sum_{n=2}^{\infty} [\sum_{i=1}^l C_i a_{n,i}] z^n.$$

Therefore

$$\begin{aligned} & \sum_{n=2}^{\infty} \frac{n[(1-\lambda)(1-\alpha)+(n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n,\mu)}{(1-\lambda)(1-\alpha)} [\sum_{i=1}^l C_i a_{n,i}] \\ &= \sum_{i=1}^l C_i \left[ \frac{n[(1-\lambda)(1-\alpha)+(n-1)(1+\beta-\lambda\beta-\alpha\lambda)]T_q(n,\mu)}{(1-\lambda)(1-\alpha)} a_{n,i} \right] \\ &\leq \sum_{i=1}^l C_i = 1 \end{aligned}$$

Hence  $F(z) \in \mathcal{N}_q(\lambda, \alpha, \beta)$

#### REFERENCES

- [1] A.W. Goodman. "On uniformly starlike functions," Journal of Mathematical Analysis and Applications, (1991) Vol.155 NO.2 pp 364-370.
- [2] G. Gasper and M.Rahman, "Basic hypergeometric series" Vol 35 of encyclopedia of mathematics and its applications, Cambridge University Press, Cambridge, UK, 1990.
- [3] H. Silverman "Univalent function with negative coefficients," Proceeding of the American mathematical Society, (1975) Vol.51, pp 109-116.
- [4] F. Ronning, "Uniformly convex functions and a corresponding class of starlike functions," Proceeding of the American mathematical Society, (1993) Vol.118, no.1 pp 189-196.
- [5] K.G.Subramanian, G. Murugusundaramoorthy, P.Balasubrahmanyam, and H. Silverman. "Subclasses of uniformly convex and uniformly starlike functions," Mathematica Japonica, (1995) Vol.42 no.3, pp 517-522.
- [6] Y.C.Kim and H.M.Srivastava, "Fractional integral and other linear operators associated with the Gaussian hypergeometric function" Complex variables theory and application, (1997) Vol. 34, no.3, pp 293-312.

- 
- [7] B.A. Frasin, “ Some applications of fractional calculus operators to certain subclass of analytic functions with negative coefficients,”Acta Universities Apulensis, 23(2010),123-132.
  - [8] G. Murugusundaramoorthy and N. Magesh, “ On certain subclass of analytic functions associated with hypergeometric functions ,” Applied Mathematics Letters,24(2011), 494-500.
  - [9] J.E. Littlewoods, On inequalities in theory of functions, Proceedings of the London Mathematical society, 23(1925), 481-519.
  - [10] T.Rosy,Study on subclasses of univalent functions, Thesis University of Madras, 2002.
  - [11] Samko, S.G. et al, (1973), “Fractional Integrals and Derivatives. Theory and Applications” Gordon and Breach, New York.
  - [12] Silverman, H. (1975), Univalent functions with negative coefficient, Proc. Amer. Math. Soc., 51, pp 109-116.
  - [13] Silverman, H. (1997), “Partial sums of starlike and convex functions” J. of Math. Anal. Appl., 209(1), pp 221-227.
  - [14] Silvia, E.M. (1985), “On partial sums of convex functions of order”, Houston J. of Math., 11(3), pp 397-404.
  - [15] Srivastava, H.M. and Attiya, A.A.(2004), “Some subordination results associated with certain subclass of analytic function”, J. Inequal. Pure Appl. Math., 5(4), Art 86, pp 1-6.
  - [16] Wilf, H.S. (1961), “Subordinating factor sequence for convex maps of the unit circle”, Proc. Amer. Math. Soc., 12, pp 689-693.